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The candidates shall limit their answers precisely within the
answer-book (40 pages) issued to them and no supplementary/
continuation sheet will be issued.
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Note : Attempt six questions in all. Question No. 1 is compulsory.
For the remaining five questions, select one question from

each unit.
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Compulsory Question

(atfrar uvw)

1. Attempt all the parts in upto S lines :
(i) State the properties of Arithmatic Mean (A.M.).

(i) Define Standard Error (S.E.) of an estimate.
(i) Write the double log-linear model of demand.
(iv) Meaning of Beta coefficients.

(v) What is probability distribution function?

(vi) Limitations of non-parametric tests.

(vii) Define chi-square variate.
(viif) What is one-way analysis of variance?

(x) Interpretation of the logistic curve.

(x) State the limitations of index numbers.
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3. Calculate rank correlation coefficient from the following data :
Senal No. 1 23 4 5 67 8 9 10
Rank differences -2 7 -1 +3 2 0 4 +3 +3 -2
Prafefe stwel @ M TEam o w T HR
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UNIT-1I
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4. Explain the meanings of R? and adjusted R2. Discuss their

significance in the regression models.
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5.  Write notes on the following :
(1) Multiple regression analysis.
(i) Prediction of production and cost models.
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